101. . TS St e § gur F fag wEi-ufastyn
TeayY &1 g el waft@ €2
@) ‘i e
(2 3 -G TV & S W

©) wﬁ%ﬁﬁﬂaﬂ_ﬂﬂ_
(@) O F T BT

102. ‘S8 T Ts W R foaR Sy 5@ I
T &iE (Fes) 1, 12 ... m, § 59
AR weim ) Frenfed fmar s R
Frrataa & € fow v faggfan sieifem
g i grge Feem 2
(1) e frgfe
@ TEES-Tla
() THWWE
(@) TR EE EE

103. =15 & e Setie e & oid feu 9
e Wead § faT Tad A S9ga T
= e ?

(1) HIML
(2) BMP
() TIFF
(4) GIF

104 T UH 9 % fau == =1 vicuifg =44 & fau
FaEd S A SA M Ea €7

o

Anti-aliasing is important to improve the

readability of text. It deals with the :

(1) elimination of “jaggies”.

(2) spacing between two individual
characters.

(3) wunderlining of letters.
Aw\ spacing of a group of characters.

SW% Consider a set of n tasks with known

i

runtimes rl, r2 .... rn, to be run on a
uniprocessor machine. Which of the
following processor scheduling algorithms
will result in the maximum throughput ?

(1)  Priority scheduling
@\ Round - robin

(3) FCFES

(4) Shortest job first

Which of the following is the most
appropriate format for graphics that are to
be embedded within an Internet document ?

) HTML

(2) BMP
() TIFF
() GIF

Which of the following is true to define a
variable for ASP ?

(1 Var f Var
(2) Dim (2) Dim
B) s G S
@) Set (4) Set
O/Page 2 % =14 % fag g / SPACE FOR ROUGH WORK PKJ 17-1/CS

105. forgarer afeeh o weH H FAA FHR FAE A HwK In the context of Visual Basic, multiple
w1k T (3R) #, 36wl 9 R controls of the same type can be grouped
dﬂ%mﬁdﬂﬂmﬂgﬁdﬁ w. .m.ﬂwmwﬁﬂ into an array, in the same manner as a
1 e & | T TS I e Sl 2 collection of data items. Such a grouping

isknown as:
@) IRCEW Am_.glmnu_ﬂv St (1) control array
2) wrefaes Tl (2) primary array
@) fedm=s Tt (3) secondary array
(4 ol T r@\ an integer array

106. < @ Gy R 3RS W o= FIWY, R | HwA Consider two database relations R and S
32qea & 3R S ¥ 2 20w § | R 3RS & Aafitw having3 tuples in R and 2 tuples inS. What
SIe (9 w4 3) ¥ femi T 9 9 is the maximum number of tuples that could
atferRas T9ed ht TE 4 B 2 appear in the natural join of Rand S?

@ s ® 6
@ 2 @ 2
@ 3 @ 3
@ 5 @’

107. T WA | GE WA H Sera S |awl | 107. ich of the following protocol is used for
+ i w1 & fay Fefates 4 9 fea transferring electronic mail messages from
‘rerhTet’ T ITAT faar < € 2 one machine to another ?

(1) TIAZAS (HTTP) (1) HITP
@ wEAH (FIP) @ FIP

@) WA, (SMTP) 3y SMTP
(4) TETLTEE. (SNMP) (4) SNMP

108. ¥l Ud ¥, AEHIGIR FH1 FHEM STHHE A@m\ OLE, a Microsoft’s component document

TFRarR, @ ST R technology, means :

(1) e e Tvs e (1) Overlay Linking and Exchange

(2) SR fefedT we wEtén () Online Linking and Embedding

() it i wE (3) Open Learning Exchange

(@ i feifdn s wafén (&)~ Object Linking and Embedding
O/Page 3 TF &Td & T <7 / SPACE FOR ROUGH WORK PK]J 17-1/CS
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109. 'S WA foggfan ereifiga’ 4
“H-yEiRE A w5 e s H

T 1 GHIEH ! gerEa 9
e <1 qepa €

@ =

(2 =eifae

@)

(4) HERM

110. Frafafa @ 9w 90 & T IRom §2
e T ?
Select customer_name, telephone
From customers
Where city in (‘Jaipur’, ‘Delhi’, "Agra’);
(1) Fit SwviiEsi & STHERL_TH S ST,

feeett a1 e ¥ 7 wd §1

(2 SuisEAm SR weft SwitEIS &
Eikae]

(@) ST 3R Sy, feet # @ s
T Te arel gt IusiieR & S |

(@) ST it SR, fewed o smR
H TgA aTel |edt Susite & SR |

111, refre =i % qeaisd w fae Frefafaa

HQX The problem of indefinite Eonwm.mmw.om
low-priority jobs in general priority

scheduling algorithm can be solved

using :

h:\u.imvm&:m

@) dirty bit

(@) aging
(4) compaction

1107 What result set is returned from the
following SQL query ?
Select customer_name, telephone
From customers
Where city in (‘Jaipur’, ‘Delhi’, ‘Agra’);
(1)  The customer_name of all customers
who are not living in Jaipur, Delhi or
Agra.
(2) Thecustomer_name and telephone of
all customers.
@\ The customer_name and telephone of
all customers living in either Jaipur,
Delhi or Agra.
(4)  Thecustomer_nameand telephone of
all customers living in Jaipur, Delhi

and Agra.

&Enr of the following data structures is

Hq S eI ST wad tfus Sugaa 2 most suitable for evaluating postfix
expressions ?
® @ (1) Tree
@ == ,@\ Stack
@E) fovsfae (3) Linked list
@ = (4) Queue
O/Page 4 % w1 o feg wg / SPACE FOR ROUGH WORK PKJ 17-1/CS

112, ifed Hiad ot 1 TE Seed €

() <= s faw

(2 Tmd
() TEE-TRIS
@) T ITEM
113. Ammmﬁ%m&ﬁmgﬁvmﬂn@ﬂmmm@
2 = fewice ferfen a1 82
() SETERe
@ Wwd
(3 WA
@ dHdfEe

114. 8 faza/faaga ot 800600 faaae +
arifed (SFEETS) Her H H 40 HE/
Jade | guRA F 6 fag fae s Fnaem?
(1) 1536 Mbps
(2) 24 Mbps
(3) 15.36 Mbps
(4) 153.6 Mbps

115. A & C++ UMM : FA9 Fohed : Yiecteh |

g

frefafed 4 @ SFa e €2

(1) ‘wE IR 9 ¥ iR 'wha’ e
Tt ®)

(2 =w AFERE F T T FRE ()
TR &I Twial &1

@) T W= ‘v FRER % FER
FI g E |

@) 9 'gha’ & ot vfes i e
HEE 6 ThET: UiseTsh UUE Hivwes T
& Y ‘g R’ @i § TRt frrmu

HHWA The major goal of object - oriented
programming is :
E\ Top - down program development

(2) Speed
(3)  User - interface
(4) Reuse

Hw%. Which of the following is the default
scripting language in Active Server Pages

(ASP) ?
6 JavaScript
() PHP

(3) HTML

(4)  VBScript

mw.\(ﬁsn is the bit rate for transmitting
uncompressed 800 x 600 pixel color frame
with 8 bits/ pixel at 40 frames/second ?
(1) 1536 Mbps
(2 24Mbps
(3) 15.36 Mbps
{4y 153.6 Mbps

/H“.\?mcam the C++ definition : class circle :

public point .

Which of the following is false ?

(1) ‘Point’ is the base class and “circle’ is
the derived class.

definition indicates inheritance.
(3) The keyword ‘public’ indicates type
of inheritance.
rh&\. All the publicand protected members
of class “circle’ are inherited as public
and protected members, respectively,
into class ‘point”.

O/Page 5
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116. fr=fafea § & S 91 < wue =R i
R wiw W S Eortw ¥ Q@ fafada
3R (array) Ft feaia 3l weitFe Fwm ¥2
(1)  intarray[][ ]=new int [5][4];

(2) intarray [4][5];
(3) intarray [5][4];
(4) intarray[ ][ ]=new int [41(5];

117. 9% W] St TREMEE 99 T Had
AT ST F YUSK T & 3% 59 T
9 F Iig war S, F weI S

(1) MIMD
@ cIsc
@) RISC
4) SIMD

118. TF famrer, T odish #13000 Hz Tafag 3,
T St UH o 3TN F0 g T The S9d T
g Hehlad (FeRieiad) a1 T | ag whfa
e % fa w9 ¥ w9 fhed Svsfasy wt
AEESHA B ? I8 AF o e mE dvg
300 Hz fa&divl (o) &1
(1) 33,700
(2 30,000
(3) 32,700
@ 33,000

119. 947 fpe ¥ frefafaa 4 @ <1 @ a3
fashed & =9 & 'oF’ o) ‘o’ 99 F
1, Tuifta w3 g e ate aw fae
T Ear g ?

(1)  prompt()
(2 alert()

(3)  confirm ()
(4) request ()

.jm. Which of the following Java statements
declare and allocate a 2-dimensional array of
integers with four rows and five columns ?
(1) intarray[ ][ ]=new int [3][4];

/Q\\ int array [4][5];
(3) intarray [5][4];
(4) intarray[ ][ ]=new int [4][5];

/H.H\ The technology that stores only the
essential instructions on a microprocessor
chip and thus enhances its speed is referred
toas:

(1) MIMD

(2) CIsC
o mc

(4) SIMD

118/ Ten signals, each requiring 3000 Hz, are
multiplexed onto a single channel using
FDM. How much minimum bandwidth is
required for the multiplexed channel ?
Assume that the guard bands are 300 Hz
wide.

(1) 33,700
() 30,000

& 32700

4 33,000

11p.> Which of the following methods in Java
Script will display a window having a
dialog box with a specified message, along
with an OK and a CANCEL button as
options ?
(1) _prompt()
@\ alert ()
(3) confirm ()
(4) request ()

O/Page 6
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120, XML % H&htor &t Haon & g, ¥ fomam
%
(1) </ xml version="1.0°"/>
(2) <?xml version= 1.00/>
(3) <*xml version="10" />
(4) <?xml version= ”1.07/>

121, Frefafed O / S [ HAA FHHERT
T2 ¥ T e SRl i e FRAT R ?

@  sifaes < afeia v w

1) e Tt i g HET (ST,
e, feredrem, fainfa) |
am fewr W'Y’ 9= i

1) (@, @ )
@ = () ()
(@) e () 3R (1)
(4) et () AR (1)

122. 9= off gl T Bl

1 frge

() TdT IR
() e TRg
(@) uEede TR

123. 3 WEE 6 @Y YSH w1 & foe e
TRE a1 AER 9 foww § wid w0 1 h
Cici8 I
(1) feuizafsw
2 Ssdiw
(3) IER=
(¢ wfdr

H/u». To declare the version of XML, the correct

syntax is :
AH‘NXA\ xml version="1.0'/>

(2) <?xmlversion="1.0"/>
(3) <*xmlversion="1.0°/>
(4) <?xmlversion="1.0"/>

QA. Which of the following statements best

describes the main reasons for normalizing

relational database ?

O To
independence.

(I) Toremove data anomalies (insertion,
update, deletion, anomalies).

(II) To save space on disk.

b\\@ (1) and (11

@ @ eand (1) only
() () and () only
(4) () and II) only
/IHWN.\ A thread is also called :
(1) ascheduler

(2) avirtual process

achieve

physical  data

(3) aheavyweight process
/w&\ a lightweight process

/" Copying a process from memory to disk to
allow space for other processes is called

(1) demand paging
f%s\ deadlock’
(3)  pagefault
(4)  swapping

O/Page 7
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124. Qﬂ.:ﬁﬂﬂ_ﬂ—) ._-:Nﬂr—.m.:.nﬂ.—ﬂ_._d._.w,..:ﬂm:
AW FT A FAA Y IS FT T4l

/R ER B
(1) g H™ve
@ =%
@) WFERH
#) IR

125. Fr=fafed g @ve R faan ifew
TH(Y<0)
X=-XY=-Y;}
Z=0;
=R (Y>0)
(Z=Z+X; Y=Y-1;)
M @ T X, Y, 3R Z quies =X § SR X 3Ry
smfua &1 9 4 4 5 oy Fie s & 5d
1 HETTH FU il 2

(1)  Z, X*Y & oA% &
(2)  Z X+Y IR &
(@)  Z Xy 7 g
@ Z YSTHA T

When a subroutine is called, the address of

12 .
VN the instruction following the CALL

instructions stored infonthe
(1) program counter
(2) stack

(3) stack pointer

.@kﬂnﬁ-&ﬁg

HW Consider the following code segment :
if (Y<0)
X==-X;Y=-Y}}
Z=0;
while (Y>0)
(Z=Z+XY=Y-1}
Assume that X, Y and Z are integer
variables, and that X and Y have been

initialized. Which of the following best
describes what this code segment does ?

(1)  Sets Z to be the product X*Y

(2) Sets Zto be the sum X+Y

(3)  Sets Z to be the absolute value of X
Aw\ Sets Z to be the value of Y

126. Topsll AT Tiafovm o % WA g S rum\mw combinational logic circuit that is used

AT i § 221 S S Fifa 29 TS

| A 9 A weleHird 9% TRaY i
ELE R

A.“: feredierr (Demultiplexer)

(2 TR (Encoder)

@) feFrst (Decoder)

Wwhen it is desired to send data from two or
more source through a single transmission
line is known as

(1) Demultiplexer

(?  Encoder

(4) TEIRRR (Multiplexer)

/M“\Umnomma
) Multiplexer

O/Page 8
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127. SETS Hoof # e FoeRE | = qag? HNX What is garbage collection in the context of
Java?

(1) ﬂ_m—mmﬁﬂﬁwd (3t ww) foe s (1),/ The Java Virtual Machine (JVM)
I % STELYE i S HAI T AR checks the output of any Java
|ui &l fagrma (feciie) @ K3 program and deletes anything that
@1 a1d T 2l does not make sense at all.

(2) amen fawed, faee WSTa it (2) The Operating System periodically
< I & aTate €9 § fedie w deletes all of the Java files available
gl on the system.

(3 ferelt W § $R fRT T FE A (3) Any Java package imported in a
e faae sydm =& @ @ ¥, program and not being used, is
fecfe & 9 €1 automatically deleted.

@) @ e w1 i T - 9 & o (4) When all references to an object are
=g g WK Hﬂﬂ wd: 999 i mo:m.. then the memory used by the
ot vt (feer e ) ¥ object is automatically reclaimed.

128. fadl XHTML <& &1 fagaasg &1 aviA | 128, What is the full form of DTD that is used

%0 4 9ge DTD &1 9 €9 18 ? to describe content in an XHTML

document ?

(1) Document To Definition (1) Document To Definition

(2) Document Type Definition (2 Document Type Definition

(3) Document Towards Definition (3) Document Towards Definition

(4) Document Text Definition f% Document Text Definition

129, WEHITRER H 95 Werer = ol i gmﬁmnmmwz the microprocessor that keeps

1 i FEeH % Su a1 YROMH F 9y H " track of the answer or result of any

WARSH______ FE W g arithmetic or logic operation is the

1) TR (ﬁg\ Accumulator

2) wFEEXR (2) Stack pointer

(3) s TSR (3) Program counter

@) TN EER (4) = Instruction pointer
O/Page 9 T %™ & fT s / SPACE FOR ROUGH WORK PKJ 17-1/CS
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130. afE w9 @I SHER THT F 2 gL ¥ iR

et W& 79 ¥ 14 999 g F1 Foa &

‘St &, weve-Ufaa foggfan sremfem
e Tl & 3 s

1 8

2 5

3 6

@ 7

131. & wfaal for ferega omofd & =2 81 o i
arafifed fougarg = & @@t €, F
wfeal e S g |

(1) Main memory
(2) Volatile
(3) Non-volatile

() RAM

132. WAV # fE O At IR 6w WA
Gical T e o ¥

(1) ‘'O’ @R %W Weler 29 |

() T ||
(3) TR R STwE & WY A |

(@ "ER" wEEF 9y Teder @1

% the time quantum size is 2 units of time

and there is only one job of 14 time units in
aready queue, the round-robin scheduling
algorithm will cause _______ context

switches.

Hd? The memory which does not loose its
content on failure of power supply is

known as memory.

(1) Main memory
Aw\ Volatile
(3) Non-volatile

4) RAM

uwm The easiest method in Flash to draw a

heptagon, is to use the

(1) Polystar Tool with the “Polygon”
style.

(2) Polygon Tool.

(3) Lasso Tool with the “Create star”

option.

A&\ Polystar Tool with the “Star” style.

O/Page 10
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133. afe f ‘fomme’ 1 &t 1000 ms ¥, m,;

forciea H Tac! ra T g 2
(1) 10-'kHz

() 1kHz

(@) 1073kHz

4) 1072kHz

134, Frefafaa § 3§ a7 w fagwa 3fes w7
figm aftaae x 31, afteEe y 8, fFAF (QUICK)
T W2R HA1 8 ?

y="THE QUICK RED FOX JUMPED
OVER THE DOG”

(1) x=Middle (y.5,5)
@) x=Left(y,5)

@) x=Mid(y,55)

() x=Instr (5, , “QUICK") _

135, aa WofHn ¥, dmm S argge | fauted
F fadraa &1 Seo@ 4 &1 T T fame
(femmifaem) o fras fag wam fea s
=ifea ?

(1) =" i SR <Fad HRE |

(@ iferran sl 3fR =Fan SREA|
() I FYldT 3R AU SR |

(4) ifiwan wufan IR Afusay SREA|

133,71 the period of a signal is 1000 ms, then
what is its frequency in kilohertz ?
(1) 10-'kHz
2 1kHz

3 10-3kHz

4) 10-2kHz

Z& Which of the following Visual Basic
statements will assign the value “QUICK”
from the variable y to the string variable
x?
y=“THE QUICK RED FOX JUMPED
OVER THE DOG”

(Y x=Middle (,5,5)

(@) x=Left(y,5)

() x=Mid (45,5

) x=Instr (5,y, “QUICK")

HWA In structured programming, a program is
decomposed into modules. Coupling and
cohesion describe the characteristics of
modules. A good decomposition should
atternpt to:
(1) Minimize coupling and minimize
cohesion.
(2) Maximize coupling and minimize
cohesion.
(3) Minimize coupling and maximize
cohesion.

(@\ Maximize coupling and maximize
cohesion.

O/Page 11
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136. IIEY AR W faER ST st s
@ I S, Wi et (WEEd @)

FEIHT:
person_ID | Name Age
1000 Rajan 40
- Jatin — 45
1001 Rajesh 35
Y TIfCTRT SR Seett fhY ST o1 gidsie
FNE?
(1) ey gRfEt
(2 Faa T i
(3) ufee ol S efirdt

@), TR iR S it

137. Trefafaa 9 9 g woerw wiem ¥, g
F YUERY THd dad gAEeR @i (fae
Hfegar fora ga) & w9 H =ared ot

2?2
(1)
@
®)
@

138. A TS (e v =5 fufy | 2
FR F TEHd | WU (30) o1 @ Y

o
@)
)
3
@

<t - m
W
RERE =T
ATl fewh

e A
process control block
user control block
file control block

memory control block

H»MA Consider the database table “Persong”

having person_ID as the primary key ;

person_ID | Name Age
1000 Rajan 40

- Jatin — 45
1001 Rajesh 35

What are the constraints violated by the
above table ?

(1) Relationship integrity
/@\ Referential integrity only
(3) Entity and domain integrities

(4) Referential and domain integrities

137/ On which of the following storage media,
storage of information is organized as a
single continuous spiral groove ?

&y cp-ROM
(2 RAM

(3) Harddisk
(4) Floppy disk

13§. The kernal keeps track of the state of each
executing program by using a data
structure called

rﬁ\ process control block
(2)  user control block
(3) file control block

(4) memory control block

O/Page 12
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140. ﬁﬂﬁﬁ%mm@w@pﬁﬁ.ﬁs
g F7 S Y wienfua w5 3, 9t v
TeE F AT E, I 1 W T TEFR M
il
& g 9 gy Fefaraa o S, s
TeT T Y STER Toh THT R T Siaeaa
o ST €, % AR W Tl @ a9
m:mqw"

B,LN, AR, Y| 98 F S8 |72

®m 5
@ 2
@ 3
@ 4

141, Frfates § @ g aiieo i (|fén
ATNREH) | e (Feeq) 1w ffan
ST 2 .

(1) Insertion Sort
(2) Heap Sort
(3) Merge Sort

H/w%ﬁwmncnm?m procedures is implemented
using :

(1) String

2" Queue

(3) Stack

(4) Linked List

/ﬁ\mﬁ a tree with just one node, the root node,
the height of a binary tree is defined to be
zero; if there are 2 levels of nodes, the height

is 1 and so on.

A Binary Search Tree is built according to
the usual rules with the following six keys,
inserted one at a time as given :

B,I, N, A, R, Y. What is the height of the

tree ?
1 5
2 2

@ 3
& 4

14, Which of the following sorting algorithms
uses recursion ? '

(1) Insertion Sort
(2) Heap Sort
.Am Merge Sort

Bubble Sort

(Y] Bubble Sort

O/Page 13
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142. EEA 9E F1 3 9 €29 ° yiEfda +3 F

Terw 39 @ ST AT ST 1
FE I

(1) HTIIP

(2 URL

(3) FTP

(4) DNS

143. SA TS F1 W HTH alchl FHE S i J1fd 6T

T 5 e a1 g fmar < e ergfsman
FAZ IEA TR F AT TFRF
HaY FT eI

) FaFEE

(2) v

(@) Sl

(» foiats

144 Fofaias TEIsE TR Sl gsfad 1 &

int[] X=new int [10];

for (int P=0; P< = X-length ( ); P++)
X[P]=5;

(1) X[P]=5, X(P)=5 T TIfECI

(2) P<=Xlength (), P<X-length () 3
il

(3) Xlength (), X-length 21 =1z
(4) P++ P+1%mA1 =T

NQW\Z&E&B that is used to convert domain
e into IP address is known ag

nam

(1 HITP
@ URL
(@) FIP

(4 DNS

143/ The unit receiving the data item responds
with another control signal to acknowledge
receipt of the data. This type of agreement
between two independent units is known

as

(1)  strobe control
() multitasking
/HW\ handshaking

(4) piggybacking

Hmﬂ/—.ﬁﬂmn correction is required for following

Java code snippet to compile ?
int[] X=new int [10];
for (int P=0; P<=X-length (); P++)
X[P]=5;
(ﬁo\x?_ =5 should be X(P) =5

(2) P<=Xlength () should be
P<X-length ()

(3) X-length () should be X-length
(4) P++shouldbeP+1

O/Page 14
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145. Frefangs § 4 =0 goEa T W@ F W™
s TE €7
(1) {@F% (Rollback)
(2 @iEE (Commit)
(3) HeIEE (Select)
4) fE@rEE (Savepoint)

146, R <1 T T F AHE (FAHE) FEAm
Frefarad frd S § Feayv &2

(1) FEER e s ' T
R T i gir=d el

14%/” Which of the following is not a transaction
management SQL command ?

(1) Rollback

(2) Commit
(3) Select
{4y Savepoint

%onncﬂm:n% control in RDBMS is

important for which of the following

reasons ?

(1) To ensure data integrity when reads
occur to the database in a multi-user

@ T yEE e § geEd | Huee
T W T L ghfvsa w1

() e e H T H ST g

R &2 g gifvEd s

@) T e A § SeEe O’
B W = 2P g

147. Tt afqfen fven 9 3 WEm oA § 3l
Yeieh =1 TG R &1 <1 ThRA! S STadeal
¥1 R TEdl F = A @ e

environment.
(20 To ensure data integrity when
updates occur to the database ina

single-user environment.
/A@\Ho ensure data integrity when

updates occur to the database in a
mulbi-user environment.

(4) To ensure data integrity when reads
occur to the database in a single-user

environment.

processes each requiring 2 units of resource
R. The minimum number of units of Rsuch

IEEep e at fexcic o R U that no deadlock will ever occur is :
@ 5 @ 5
@ 2 /@\ 2
Gy 3 (3 3
@ 4 @ 4
O/Page 15 % T % feT sme / SPACE FOR ROUGH WORK PK] 17-1/CS
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148. TUHTA AT 4096 H fgemmurd wem § wgd
G H

@
@
G)
&)

149.

@
@
&)
)

150. HauTHE €1 &1 T 09 & Hay ¥ Frefaraa 5
| HF 9 HYF T 2

@

@

©)

@

151. GICATH F SyaE Fefaiad gidas sgseh
1 @ F= F faw fead g () W
TavaFdal ol ?
a5 : AC+ABC

Frefefaa 4 4 =ik @ Tt vva Sfeaa §
[UR T € ?

ferga =t SavIFa €1

16
10
12
13

STt St (T AH)
e

Todras ot

gftrenr Tgfa (¥ FER)

F 7% § 5 g (F990) o wgd 9
T WIE A1 1 AG3ahdl 2F |

" T e ThiTe TR giaey
gl

s $ol Afgda €9 § afaswr
YR I YedH =Ll ¢

S (TH) e F TE FT
2TTEY gl S U Al B |

1 The number of bits require to represent
»MA decimal number 4096 in binary form ig

Q 16
@ 10
812
@ 13

49/ Which of the following memory improves
the speed of execution of a program ?
(1)  Virtual memory
(2) Primary memory

(3) Secondary memory

4) / Cache memory

o.«5:&..o:rm_no__osa.ﬁmmwmnmn:m:nmmmm&mm
with respect to Relational DBMS ?

(1) Adisadvantage of highly normalized
tables is that queries may require too
many time consuming joins.

(2) Foreign key constraints are referential
integrity constraints.

/.@\ A primary key uniquely identifies a

row in a table.
(4) Nulls reduce space requirements in
tables.

ww_. How many gate(s) would be required to
the following boolean

expression after simplification ?
Expression : AC+ABC

implement

1 4 1@ 4
2 1 @ 1
® 2 o 2
4 3 4 3
O/Page 16 T T4 < 6T S8 / SPACE FOR ROUGH WORK PKJ 17-1/CS

152, 21 daERy Ry U FIAE 2 uw%irmn do data warehouses support ?
(1) RIS %&\ Operational databases
(2) OLAP ) OLAP
() OLTP () OLTP

(4) OLAP 3R OLTP

153. Aferad & e d TUEwE F WS
(TH-3HE-TeR) TR H AG T
(1) The AND function of several AND
functions.
(2) The AND function of several OR
functons.
(3) The OR function of several AND
functions.
(4) The OR function of several OR
functions.

154, Fad @ ‘3T ¥ fAu w8 A W W@ o
FR?
1) <hl>
(2) <head>=large
(3) <heading>=large
4) <hé>

155. Frefafad § 9 f6g e § 'SR’ @
o ¢ sfifrs oyf" o TR T W A

(4) OLAP and OLTP

H’m\w\ﬂrm term sum-of-product in Boolean
algebra means : ,

(1) The AND function of several AND
functions.

(2) The AND function of several OR

functions.

7@\;45 OR function of several AND
functions.

(4) The OR function of several OR
functions.

154, Whatis the correct HTML tag for the largest
heading ?

(1) <h1>

(2) <head>=large

(3) <heading>=large

,@\ <h6>

THAR? of physical memory ?

1 gfdm (1) Thrashing

@ dwT @) DMA

() =wfiaT (3) Buffering

@ feuis R 8y Demand paging |
O/Page 17 G %™ o feTq SFE / SPACE FOR ROUGH WORK " PKJ17-1/C5

/H_Wm,\a)wr.ﬁ? of the following nmn?mmcmm. allows
execution of programs larger than the size
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156. F=fafes gt 99 (@0 ) ¥ fow 9

P (TR I (I9de) J ww B
T HE ©

157. T T o iR ahRvEi § fa

(1) - +%/abdef
(2} a+bd*—ef/
() abdeft/+—

(#) a+b*d—e/f

T e ThEE Sl § S G TaT O eI R A
T 99 91 IR § gOE G0 F aem g
TRafad H gl

()
@ foem (wed) st
@) e
(@ T

=g wahrrA fafy § der (slvs) we
9 gewl H fea 5 ¥ (ST 1R
ADDRY, #3)?

(1) Based Indexed mode

{2}  Absolute mode

(3) Immediate mode

(4) Register indirect mode

u%‘ For the following binary tree, inorder

traversal yields the expression:

(1) - +*/abdef
@ a+bd*—ef/

By abdef*/ + -
4) a+b*d-e/f

157 is a special effect in motion

pictures and animations that changes one
image or shape into another through a
seamless transition.

(1) Tweening
(2) Inverse Kinematics

@\ Morphing

(4) Tweaking

In which addressing mode, the operand is
given explicitly in the instruction (example
instruction : ADD R4, #3) 7

3\ Based Indexed mode
(2) Absolute mode

(3) Immediate mode

(4)  Register indirect mode

O/Page 18
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159. et # F & W o Frew sew 9,/ Which of the following is not a program
@ R? control instruction ?
(1 <CMP (1) _cMmP
(@ MoV ﬁ\ MOV
@ JMP B) JMP
(4) CALL (4) CALL
160. THAR WA FAMRT, __ TF Wmo\ Based on the current technology,
et e Hiwe ) ___ i the fastest logic family,
(1) CMOS Y~ cMos
@@ TIL @ TIL
(3) MOS (3) MOs
(4) ECL (4) ECL
161, Trefafaa § § S W SRR fawmm &= % Which of the following represents the life-
Ser-5 T © ? cycle of software development ?
(1) Design — Analysis = Coding — (1) Design — Analysis — Coding —
Operation and Maintenance — Operation and Maintenance —
Testing Testing
(2 Analysis » Design — Coding — (@) Analysis —» Design — Coding —
Testing — Operation and Testing —  Operation and
Maintenance Maintenance
(3) Design — Analysis — Coding — /@\Ummmm: — Analysis — Coding —
Testing — Operation and Testing —  Operation and
Maintenance Maintenance
(4) Analysis —» Design — Coding — (4) Analysis — Design — Coding —
Operation and Maintenance — Operation and Maintenance —
Testing Testing
162. T felt 22 §9 & AR § foae st H.@xw?m: thata 22-inch monitor with anaspect
AR 16 : 9 F ST HHIR SRITA 1920 x 1080 ratio of 16 : 9 has a monitor resolution of
%, T A =t <l e 2Rl 2 1920 x 1080, what is the width of the
monitor 7
1 228 (1) 22inches
(2 85339 (2) 853 inches
() 10.79%= '(3) 10.79 inches’
@ 19173 &719.17 inches
O/Page 19 . " PKJ ﬂE\,mm,
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163. qﬂn.mwokwm%aﬂ_mﬂ&ﬂﬂq@dﬂ

164.

165.

T U F A5 U Rl T | 6
TR IS (Y19379) 3R W wew 1 i o
ST R T e R () 68
T 7 focit fovan T iR e (85)
T uEE fom e v 9 @ sea
(%) 7% &1 Soen Al W (e angen)

T:

M s
@ P
G) Q
4 R

AT WE wems w1 iy F fau
IEEE f5Tel-Wifes wiife & st (wagdriz)

o ¥ R fagd o1 swdn ferar s g e
(1) 32faem
2) 8fazm
(3 16fazm
4 2af3zm

3209Z W AR &1 %9 R fashd weamar §

(1} Fo-F=eA
(2) EEE-EIHET
(3) TEm-fmEaa

@ Z-FEd

163, The fiveitems P, Q R, S and T are pusheq

VN in a stack, one after the other starting frop,
P. Thestack is popped four times and each
element is inserted in a queue. Then twq
elements are deleted from the queue and
pushed back on the stack. Now one item js
popped from the stack. The popped item
is:

@® s
@r
G Q
@ R

. How many bits are used in the exponent
part of IEEE single precision format for the
representation of floating - point
numbers ?

(1) 32 bits
(2) 8bits

@ 16 bits

(4) 24 bits

7;& Buying and selling goods over the Internet

is called :

(1)  Euro-Conversion
(2) Hyper-Marketing
(3) Cyber-Selling

@\ E-Commerce

O/Page 20
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166. Tfafad § € @ ' Aivera Tfew" =1
g tfers qand =aren w3

(1) <& ‘=Ees’ @ o W= w1l % ay
:ﬁ.ﬂ:ﬂﬂ.-:ﬂﬂ.ﬂ:ﬁ.ﬂﬂ“ﬂﬂuam_

2) <@ UH T E T R

@) & ferelt emem ot o < sifus ogem
U i

(@ 4 '=wRes’ o W QA ;@ AYF Y=’
1 T 2

167. <14 fREt ASP.NET TiEet @ IS Hell T Tl
ST % A1 AISSR F MW ¥ <@ W €
W HTML 78 # 31 §

(1)  ASP.NET 3R HTML %S =1 fagm
(2) 9l ASP.NET &I
(3) Wit HTML %S

(4) a1 ASP.NET &is fsa? ASP.NET
wEA

168. C++H, freafafaa 3§ @ wF W weA T8 w9
¥ Hfa o TS N TR @ 6 ¥ g
BRH fied st €2

(1) delete pp;
(2) deletepp[);
(3) delete[]pp;

- Which one of the following most accurately
describes “multiple inheritance” ?

(1)  When a child class has both an
“isa” and a “has a” relationship with
its parent class.

(2) When two classes inherit from each
other,

,ﬁw\gmz a base class has two or more
derived classes.

(4) When a child class has two or more
parent classes.

H,wm. When an ASP.NET file is placed on an IIS
server and viewed through a browser, the
resulting HTML page contains ?

(1) amix of ASP.NET and HTML code
(2) all ASP.NET code

/_\G\ all HTML code

(4) as much ASP.NET code as is in the
ASP.NET file

In C++, which of the following statements
correctly returns the memory from the
dynamic array pointer pp to the Mnmm

_\%
store ?
(1) delete pp;
w2y delete pp[ |

(3). delete[]pp:
“) . &Qawm‘rm_ﬁ“

(4) delete *pp;

O/Page 21

ﬁ.ﬂiw ferg T / SPACE FOR ROUGH WORK

PKJ] 17-1/CS

s e A T Y

Scanned by CamScanner



172. F1 U=31 G fogd ' $it o % fog vara

169. fEenurd e =1 ok gy fomes w@m S

4 fagg fgamnd gen i SeT & fae fFn
S ¥, g Artn(Y) R
i drem(T) S STEvEear gt
&
1 40
@ 1,3
B 22
@ 3,1
170. 10Base5 ShafciT +ft sar S
gl
(1) I saHe
(2 s e
@) ¥ 3geE
() Tl 3R
71. fwdt nifsfes (fzrd) 9%

el :

(1) =73 9Rewd T&l
(2 = feafa

(3 s=T=N

(4 <ma feafa

The logic circuit of binary adder which is
used to add two 4-bits binary numbers,
half adder(s) and

“*

requires

full adder(s)-
(1) 40
2 1,3

3 22
@ 31
nﬂw The 10Base5 cabling is also.known as

,_W Fast Ethernet

(2) Thick Ethernet

(3) Thin Ethernet
(4) Gigabit Ethernet

H«% In a positive edge triggered JK flip-flop, a

low J and a low K produces :

)
)
(3) high state

@\ toggle state

no change

low state

2| An entity set that does not have sufficient

701 &1 21 & @1 Fel I e : attributes to form a key is termed as :
(1) Primary entity set (1) Primary entity set
(2) Strong entity set (2) Strong entity set
(3} Weak entity set (3) , Weak entity set
(4) Simple entity set Simple entity set
O/Page 22 T% @14 & T T8 / SPACE FOR ROUGH WORK PK] 17-1/CS

173. TefafEa ¥ @ =0 @ gfaa 32 % e ok

S Abde |

Scanned bymEamScanner

%Y Which of the following devices
understands the format and contents of the
data and translate messages from one
format to another ?

(1) Gateway

(2) Hub

@y Switch

@

Router

In which of the following state, the process
is waiting for processor ?

(4
@

17.

Running

17\ The complexity of linear search algorithm

is:
(1) O(nlogn)
@ O
@ 0 (ogm)
4 O(@m)
qum.\ammo:& databases, the natural join of
two tables is :
o) Om.nmmmmn Product always.
(2)  Combination of Union and filtered
Cartesian Product.
@ Combination of Selection and filtered
Cartesian Product.

. wa\ﬁan:mzo: of Projection and
, filtered Cartesian Product.

PKJ 17-1/CS

FTaeg ! TUER § 3R WY I T Wi §
Ta e F wftafda s 22
@) e (Gateway)
(2) T (Hub)
(3) T&= (Switch)
(49) T (Router)
174. Trefafea ¥ A fEgsmF ‘T’ TR &
foq ‘92" TR W EAI ¢
(1 T
@ =
@ W
@ afm
175. Yfas @ Ay 1 e § :
(1) O(nlogn)
@ OMm)
@) O(logn)
@ O(n*n)
176, TavHe Soal ¥, 9 afawel & A9iis
o (S SaTE) ®
(1) TeF HEHT IR |
@ gfrE ek sf FEfaeT SR
A .
@) o Sl B R S W WA |
(@) weo it sf@ FEfEaT SR A
HareA |
O/Page 23
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177. W@l W B e s ww E fw
MY 30 aR | W= B ey o o9 frg
THR & A WHE X ©® T
(1) fameft (weakly) T3S
@ =S
() SIHEA TRE
() T e
178.
FHEA H F G0 U T 22
(1) SELECT COUNT (*) FROM Persons
(2) SELECT COUNT () FROM Persons
(3) SELECT COLUMN () FROM Persons
(#) SELECT COLUMN (*) FROM
Persons
179. =M it i X 3R Y 314 rTenss quiar &
Ffafas |3t $1s @ve w faar
HIfAT :
while X<>Y do
if X>Y then
XeX-Y
else
YeY—-X
endif
endwhile
_print (X)
IR RWEE?
(1) <1Eens F " SELEL. F e
£
(2) & T e T AL F T F

language. This means

u@mcm mmm\ ..
Ve that you must be explicit about what typa

of data youarc working with.
(1) weakly typed
AW\ strongly typed
3 335&8:% typed
(4) loosely typed

TH T T ¥, A “Persons” afeaT § fare] i With SQL, how can you return the number

o

I -

(3) 9T 3 dEme § ¥ wed g e w6l
=T T 2

4) I% 999 93 SEA F A Bl 9en g
fawfaa a1 &1

A

of records in the “Persons” table ?

(1) SELECT COUNT (*) FROM Persons
(2) SELECT COUNT () FROM Persons

@\ SELECT COLUMN () FROM Persons
(1) SELECT COLUMN (*¥) FROM

Persons

Assume X and Y are non-zero positive
integers. Consider the following pseudo-
code fragment :
while X<>Y do
if X>Y then
XeX=-Y
else
YeY-X
endif
endwhile
print (X)
What is the code doing ?
(1) Itcomputes the GCD of two numbers.

(2)  Iltcomputes the LCM of two numbers.
(3)  Itfinds the smallest of two numbers.

@Y It divides the largest number by the
smaller.

O/Page 24
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180. I FHIH
(A +C) (AB +AC) (AT + B)
=1 ford ®9 1 T fofan s gpar 2
(1) AB+BC
(2 AB
(3) AB+BC
@) AB+AC

181, HaHTeAH STEAH WS H, Halt] H TURRARA
Cal a1 .m... :
() wiaaHi (F=EZE) H g
() T B HEA
@) o (uf=gga) =t gen
() RIS (aew) Fiwen

=

182, HHTIAHF TR, ANE WR R 9@ 'R
a3 <) o T T Tl 6 O 9
¥ frefafas § @ 1 91 GhcqqIds QR A
g €2

(1) woeR frsiar ferewa

() v (ufeEm), T (Ueeem), HaY
(3) whEy

(4) wAfe g

183. frefafad § @ #F @ TR0 Aew I
$evTe Rwreiaer % fagia | 1 i § 2

(1) e FER Faa

() iR =afi 3 $oa
(3) emhwrfya sEfid g e
@) Ty HEA

Hw\A The boolean expression
(A+C) (AB + AC) (AT +B)

can be simplified as :

(1) AB+BC
) AB

B AB+BC
@ AB+AC

m@r\_: a relational database mode], cardinality

of a relation means ;

(1) , the number of constraints
/Q\ the number of tuples ;

(3)  the number of attributes

(4) the number of tables

uwx Conceptual level, Internal level and

External level are three components of the
three-level RDBMS architecture. Which of
the following is not part of the conceptual
level ?

(1) Storage dependent details

r% Entities, attributes, relationships

(3) Constraints

(4¢) Semantic information

g&% of the following transmission media
works on the principle of total internal

reflection ?

«Q\ Optical fiber cable

(2) Shielded twisted pair cable
3) Unshielded twisted pair cable
(€)] Coaxial cable :

O\m.mmmwm
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184. € vgfa S foelt 7= W Wl F e wf
AT ¥ TS IR AEEEA At E, o

el TR

n = fregde

(2 JTIA

() HE=IA

@ feuisafem

185. Trafafaa ® @ =M 9@ idais sifusad

Torvarafaa o+t § 2
(1) oW s

(2 =9 st

(3) TR et

@) o eramst

186. @rE2 (g8 IPUG6) H IP Udl shi Wellé =71 ¥ 2

)
@
&)
4

= N =

187. IR & Hay § fFefarad sl Wia=R
FIT :
() RFYSH = (var) TSI Y= 5 q@dd@l

q fepan ST 71
() SEERE e (IFFET) I &1
SR T I IR Q?
@ 7@
@ =4
@) o ()

@ (@RI

‘_ﬁ The mechanism that brings a page into
memory only when it is needed is called

(1) page nmwwmnm:-mﬂ
.nm\v\ segmentation

(3) fragmentation

(4) demand paging

| Which of the following topologies gives
highest reliability ?

(1) Mesh topology
(2) Bus topology

/Gw\ Star topology

(4) - Ring topology

185. What s the length of an IP address in bytes
(Pre-IPUS) ?

(1) 8
@ 1
G 2
@ 4

.w—\m\. Consider the following statements with
respect to JavaScript :

() A variable is created using the var
keyword.

() JavaScript is untyped language.
Which of the above are true ?
(1) Neither (I) nor (II)
E (D) only
() only

/km\mom, (T and (II
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188. Tl TR A & ' 2 fe & i e
Tt =l 1 @t W & 2

Q) THEWA
@ s
@) ik
@ e

189, TrITH PRSI F T E :

@) sl g % Frome & fau s
wa |

@ T Sy @9 % R e )
(3) T I T} SR SR oS ¥

@) ool ' few o' #0 F =r foufa
fep o aTe W < O |
190, YMPE FI@EWA_______ FI wRAH
7w & e fa < g
(1) =T TR
(2) H (race) TW
(@) W fiwAEeRE
@) oS wEE

I |
b :

1 . 4
me A condition that is caused by run-time error

. o
mn a nOBﬂ:.:mn ﬂ.—.OWHmE 15 WDOS_:
as:

(1) Exception
@v\ Syntax error
(3)  Semantic error
(4) Fault

Cm&.\w—dm&a counter contents indicate :

,E the time needed to execute a
progtam.

(2) the time elapsed since execution
begins.

A.v\ the address where next instruction is
stored.

(4) thecountof programsbeing executed
after switching the power ON.

/u%.\ Semaphores are used to solve the problem
of

Q vu mutual exclusion

(2) race condition

(3) process synchronization
(4) thebelady problem

191, e Teddfe TN 3R
oS el ST & W AR e
Y ¥ forw S fen o €
() e
Q) TEREF
@) Ya= (fafmr)

@ oifgs (FR-faf@)

HWA A multimedia project is said to be
and user-interactive when

ﬁmmummmme.@am&mmmo:m:onqg
G‘\Hnﬁm , ‘
(2) Thypertext , L il

(3) linear
(4 non-linear
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P

gl

e weE o . o TS § B 32 Rl F | oy
192. U= HAIEV A . TE J Ananalog signal carries 4 bits in each signal 195- M‘ﬁ@m fTé 3 R el A st e Hmy The maxizyyy, PSS O et
Aﬂmﬁ/omﬁ ﬂﬁ:w.,_ e 7 Wehg 1000 e unit, If 1000 signal units are sent per 2t - A PArticular fecond avemyy \M &1..“,, ;M
. . L A0 Teords
.mmmmmm_mn uSit W ¥ @ e w5 s T AR second, then baud rate and bit rate of the thr ough mﬁ&d Sezrch 1 el il ?\
JEAW____HR Bt signal are and m 2 @ 2 o
(1) 1000 TS/, 4000 bps (1) 1000 bauds/sec, 4000 bps @ 16 @ 16
3) 8
y () 1000=TE/., 500 bps 7@\ 1000 bauds/ sec, 500 bps ©) ,& 8
5 ‘ @ 5 @ s
| (3)  40003TS/4., 1000 bps (3) 4000 bauds/sec, 1000 bps
(4) 2000 STE/3., 1000 bps 4) 200 e . .
@ 0 bauds/ sec, 1000 bps 196, ESHEE aﬂaw%ﬁ: & 132A il T .xiﬁi is the octal equivalent of the
(iig) Tuged F1 8 ? hexadecimal number 1324 7
il = 1 46252 1 46252
193. _ T ﬁﬁmﬂ ﬁaw.ﬂ m.w_m 7 o .ﬂm is an intermediate storage area g o
| muu_d_.: &2 mg % ﬂmmwm.ﬂ w_.mﬂ_.nm IR used for data Pprocessing during the extract, 2 11450 (2) 11450
[SIEY m, A1 % SRF S WATET % faw fen transform and load process of data @¢) 11452 @\ 11452
EIE I warehousing.
@) 46250 @ 46250
(1) Inter-storage area % Inter-storage area
(2)  Buffer (\\?&Q 197. T F2 H 'EOQ N Y? wa\/ What is ‘EOQ’ in Inventory Control 2
| (3) Staging area (3) Staging area (1) Economics Of Quantity (1)  Economics Of Quantity
| @) Virtual memory ()  Virtual memory (2) Economic Occuring Quantity fﬁ\\ Economic Occuring Quantity
,m (3) Economy Over Quantity (3) Economy Over Quantity
: (4)  Economic Order Quantity (4)  Economic Order Quantity
194. fordd ST HHTS feF & 4. refers to the amount of time
Tre-T1ge vid =i W & fau e1ifea wv &t required to position the read - write head i
A1 <l Hefiq =t B of a hard disk on appropriate sector. 198. XML T&ES ¥ fewquit (comment) A%\ The comment in XML document is given
. | F g <& R 2 by :
(1) Load time (1)  Load time | % = ol
| W </----> N
(2) Seek time (2) Seektime “ @ <1 — — —> @ <---->
. /h&\.b»nnmmm time _ @) <l — ——> | /@v\ Je = — =>
) ., g <l=--=P
(4) Rotational latency (4) Rotational latency | @ <l=---P @
- ' ¥/ CS
R ROUGH WORK PKJ17-1/C
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h
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|
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199.

200.

Frafafaa Fol | faer S

S1: ORITS HER § T TS iferhid set
21

52: VR YD ¥ AR faavsa § gig Bt
?

S3: &3 YSi | 1/0 i iR fuw Fyre
B S R

frefefaa § 9 S W g 2

(1) S1%E ¥ 3R S3 e §

2) s1sRs2wd ¥

() S293RS3TH T

(@) S1EH T RS2 Tem ¥

TH ADD X, Y % STe¥ H W WA=
fafir & :

(1) Index

(2) Absolute

(3) Immediate

(4) Indirect

-00o-

Consider the following statements :
S1: a small page size causes large page
tables.
S2: internal fragmentation is increased
with small pages.
83: 1/0 transfers are more efficient with
large pages.
Which of the following is true ?
(1)  Slis true and S3 is false
AN\ 51 and S2 are true
(38) S2andS3 are true
(4) Slistrue and S2 is false

The addressing mode used inan instruction
of the form ADD X, Yis:

(1) Index
(2) Absolute

@\Hgm&mnm

(4) Indirect

-o0o-

T T —— ) T R R TR e
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